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% Bk k. (S5, AW 208, BIS, CHTH)

1) y=0Bz+5)(2x-1) (2 y=@*+1)(223-1)
(3) y=uxlogx (4) y =sinzcosx
B) y=(@—-1)(z+2)(z+3) (6) y=axelogx
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% Bk k. (SH24, AW35 208, BM5S, CHRTH)

1) y=22-5)3r+2) (2 y=(*+3)(2*-1)
(3) y=sinzlogx (4) y=ec%tanz
G) y=01-2)2-2)3-2) (6) y=acosxlogw
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RETAN 5 WOUEH 01 RSEDS

% Bk k. (S5, AW 208, BIS, CHTH)

_— "= wv+u
* ROBRR { ('f;:;);)’ = zbu:)’v zq;v(w)’ = u/vw + wv'w + vvw’
1) y=Bx+5)2z-1) (2  y= (22 +1)(22% - 1)
Y =0Bx+5"2r—-1)+Bx+5) 2z —1) Y =@ +1) (223 - 1)+ (22 + 1)+ (223 - 1)/
=302x—1)+(3z+5)-2 =2z (223 - 1)+ (22 +1) - 622
=6z -3+ 6x+10 = 42" — 22 + 62 + 622
=12c+7 -&EX =10z* + 6% — 2z EZX
WFEHTIHERL T IZ) 3w,
(3) y==xlogx (4) y=sinzcosz
y = (x) logz + x+ (logx) y' = (sinz) cosx + sinx * (cosz)’
:logx+x'% =cosx *cosx + sinx * (—sinx)
=logz+1 &Z =cos?x —sin’z  BZ
=cos2zx EZ
Yo cos2z FTEET 2139 3K,
Y¢ sin2zx = 2sinzcosz TH D05,
Yy = %Sin%c ELTHGTT 52D K.
5 y=(@—-1)(z+2)(z+3) (6) y=u=xe"logz
Yy=@-1"(z+2)(x+3)+ (x—1)(z+2)(x+3) y = (z)e*logx + x(e*) logx 4+ ze*(logx)’

+ (x—D(x+2)(x+3)
=c"logzr + ze® logz + xe“g'%

=(@+2)(x+3)+(x—1)(z+3)+ (z —1)(z+2)
=e®(logx +xlogxz +1) &ZX
=22 4+504+6+22+2x—3+22+zx—2

=322+8z+1 —&EZX
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% Bk k. (SH24, AW35 208, BM5S, CHRTH)

1 y=02z-50Br+2) 2 y=@@*+3)(z3-1)
y =02x—-5)Bx+2)+ (22 —5)* 3z +2) Y =(@*+3) (@3 —1)+ (z* +3) (23 - 1)
=230 +2)+ (20— 5)* 3 =423+ (2% — 1) + (21 + 3) - 322
=6z +446x—15 = 425 — 423 + 325 + 922
=12z —11 --&X =7x% — 423 4+ 922 -BZ
(3) y=sinzlogz (4) y=¢€e"tanx
y' = (sinz) logx + sinz * (logz)’ y = (e*) tanz + e** (tanx)’
— : 1 _ e 1
=coszlogx +sinx - — =e'tanx +e ( 3 )
x cos? x
=cosxzlogx + smeE o sz —e®tanx + 62 -3 3
x cos® x
B) y=01-z2)2-2)3-2) (6) y=a?coszlogx
y=01-2)2-2)3-2)+(1-2)2—-—2)(3—2x) y' = (22)' coszlogx + x?(cos ) log x + 22 cos z(log x)’

+(1-2)2—2)3—2a)
=2z cosxlogx + 2%+ (—sinx)logx + 22 cos %
=—2-2)B8-z)-(1-2)B—-2)—(1—2)(2—1)

2

=2zxcoszlogr — r?sinzlogx + xcosz BHZX

=—(2%2 =5z +6) — (22 — 4z +3) — (2% — 3z + 2)

=3z + 12z — 11 &EZX
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